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Please check whether you have got the right. question paper
2 N.B: 1. Q.1 is compulsory
] 2. Attempt any four from remaining 51x questlons

—_—
Qi1 a) A large bank has several branches at different places. ' G ; < ‘ ; i 10
1) Each branch is managed by a manager
2) Each branch maintains the account details of the customer
3) The customer may open the saving current and FD- accounts as smgle and 3omt operatlons
4) The bank also provides the loan for various purposes \
5) Bank keeps record of each transaction by the customer to his account
6) All the branches have employees for different operations.
\ { b) Write a schema definition and normalize all tables to 3NFfor the above ER diagram. [
bt " 10 L
a) Explain Database architecture in detail and also explain users of databases. . = 08
b) Explain granularityinlocks = TS n : e A 07
a) Write a short note or_r."l"_ree__ b_ased.'i‘rld'e_xi'ng an:diH:ashk basedindexing 08 L
b) Define Transactioh. Ex_plain ACID properties of’trén_saction. ' S 07 =
- a) Whatis Ioc{qng protocol'-’ Explam Two phase Iocklng protocol and strict two phase locking protocolin 08 I
detail. e L
b) Write a.‘s‘hort:h_ote. on query optimizer.- SRR 07 k
- a) Explain Bell_LaPadulamodel and GRANT and REVOKE command. 08 i
a b} Deﬁne:De_cornposi_tion? kExp_Iain- Lossless and Dependency preserving decomposition 07
leferentlate followmg (Any three) Sk 15

1. Speuahzatlon and Generallzatlon

2. Hierarchical model and Network model L
- 3. DBMSand RDBMS
o 4 Weak entlty and strong entity -
R Write a short note on folIowmg(Any three) 15 b
e~ 1. Serializability of a transaction L
3 2. Shadow paging
F- 3. Levels of abstraction L
- 2 Deadlock prevention techniques
. 5 | =
- 4 1 | e
e I
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[Time: 3 Hours]

Please check whether you have got the right questmn paper_. Sl Y ]
Question No.1 is compuisory. R
Solve any four from Question 2 to Question 7
Use of non-programmable calculators alloWed
Mixing of sub-questions is not allowed. " .~ . ‘
Figure to right maximum marks. -

N.B:

A o S el

diagram. T ST 2 i
(o) What do you understand by line clipping? What is then-SutherIand Ilne chppmg algonthm far lme clipp:ng'-‘ 10 F
Explain. :
2 (=) What are projections? How are they useful? Explain différent types of projections: o B 08

() Construct the Bezier curve of order three and-with four polygen verticals A(1,1), l}{"'l’j,;'a',)‘,,n(f(éfi,q)sand D{6,4). 07

3 @) 5 36T L s e S N
Consider a three bit image - 0.7 4 " o o e 2

651

What will be the output image of this after performiiﬁg‘ful!owfng ope?atuo'ns'- '
1. Median flltermg only at. centeriocanon Remammg va‘lues»no changes
2. Images Negatwe transformatlon _' R W ST 2
3. Threshold F=4. ' W e T A S
4. Intensity LeVeJ Shcmg wn:h background ~a‘*3 and b 5 I
5] What is visible: sui*face detectiqﬁ'? ilfferenteatad«between“z buffer gnd A-buffer algorithm of visible surface 07
detection. e S E

& ‘2! Find qut the final co-ordinates of a figure bounded by the co-ordinates (1,1), (3,4), (5,7), (10,3) when rotated 08
B pomt{& 8 by\30° l(] cIockWtse dirgcybn\and scaled by two units in x-direction and three units in Y-direction. -

&) Whatis fractal? What are d|fferent types of. fractal"-' Explaln the Kotch curve in brief. 07
= & Whatis ras_terizat_ion? Drive and write'the G-e‘nemlized Bresenham’s line drawing algorithm. 08 £
= So've using Liang Barsky fine clipping algorithm, where (Xwmin, Yumin)=(1,5) and (Xwmax, Ywmsx)=(3,9) for line 07

segment’ Pl(6 7) to P2(8,9). . L

th What is boundary fl" algortthm to ﬁl! closed region? Explain its advantages and disadvantages. 08 §
!:j Equahze thé,glven hlstogram St 07
ufayl.evel : b g : 1 : 2 3 4 5 6 7 L
No. of Plxel_s . 790 1023 850 656 329 245 122 81
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g (any three)

n

Write short notes on the follow

on

tal Image and its representati

(b) Image Averaging
(c) Dig

(a) Gourd Shading
(d) D

stem and Random-Scan Systemns _

ifferent between Raster-Scan Sy
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Q. P. Code: 27158

[3 hours ] Marks: 80
Note :
a) Question No. 1 is compulsory
b) Attempt any four from the remaining six questions
c) Assumptions should be made whenever required and should be clearly stated
d) Answers to sub questions should be answered together
e) lllustrate answers with diagrams wherever necessary

Q1 A) Differentiate between Symmetric and asymmetric encryption? Explain 10
one round structure of DES?

B) Whatis authentication? Explain the token based mechanism used for 10

authentication.
Q2 A) Define a hash? Explain SHA -1 as a message digest algorithm 8
B) Explain the SSL to secure communication between the server and the 7
web browser.
23 A) Explain Kerberos as a third party authentication system. 8
B) Define a firewall. Explain the different types of firewalls. 7
¢ A) Explain the various network security principles and the possible 8
attacks on them.
, B) Explain the Diffie Hellman key Exchange mechanism. 7

95 A) Whatis a digital certificate? Explain the creation and validation of the 8
certificate

[ B) Discuss PEM and PGP as a mechanism for securing the E-mails, 7

& A) Whois a Certificating Authority? What are the advantages of CA'sover 8
KDC?
8) Howdoes SET ensure that the transaction is secure between the 7
customer, merchant and the financial institution?
¥« Write short notes on any three of the following 15
a) SSL
b) IPSec
c) Honeypots
d) IDS
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Please check whether you have got the right question paper. = =~ = o)
N.B: 1. Question No.1is compulsory. _ e A
2. Attempt any four questions from question 2 to 7.
3. Figure to the right indicates marks. .
4. Use of scientific calculator is allowed. o =
5. mixing of sub-questions not allowed - A LG s e A
a) A travelling salesman has to cover s cities in his tour. He has to visit -the'citi.e_'s one by one énd.rét(;\rn i0
to the starting city. The travelling cost (in thousand rupees) to each city from '“diffe"Fént 'citiésf-_ifﬁ-g‘iveh in ]
the table. Which sequence of cities minimizes his total cost. ¥ s &
AR LB E "
A Sl LS L &
TR N om0 '
Co f&. 7 1713 T
D |12 |4 6 1- |5
E b N 2 8 |- -
b)For the following set of activities and different time estimates fora project. 10 i
Activity Optimistic Time | Pessimistic time Most Likely Time
(days) (days) | (days)
1-2 3 15 B
1-6 2 114 5
23 - 6 R ] E
2-4 2 8 z 5 N
35 Ts 5K G S BT ] b
85 13 v oJ' 15, . % |e
A [ 5e8 £15 kYA 4
6T o 13 s TR S Sy 9 %
il & s _ o8 19 T
i)Draw a network diagram. = i E
1i)Find the critical path and the expected duration of the project.
iii)Calculate the standard deviation of the project length.
-iv)FJhd'_the probability that the project is completed in 31 days.
a)Solve the following using Simplex Method. 08
Maximize Z = 12X1+3X2+X3
Subject to =
10X1+2X2+X3 < = 100
7X1+3X242X3< =77 E
© o 2X144X2+X3 <=80
o XLX2,X3>=0
1 L
33FB24ESAE4CF9DAE754A30C94CS1ETA




Q.3

et

Source

Destination V 3
A B C | D Availéi:ui.‘ity \
| 21 |16 |25 |13 |11
] 17} 18 | 14 23 |13
i 32| 27|18 | 41 |19
Requirement 6 10 (12 | 15

a)Solve the following using Big-M Method.

Minimize Z=2X1+4X2
Subject to,
2X1+X2< 18
3X1+2X2=30
X1+2X2 =26

AndX1,X2>0

b)Consider the problem of assigning five jobs to five workers. The assignment cost are given as follows.

Determine the optimum assignment schedule and optimum assignment cost.

Jobs
bl fm vy
A | 25|29 [31 |42 |37
-qukers B |22 | 19|35 (18 |26
£ C |39 |38 |26 |20(33
D |34 | 27|28 |40 |32
E |24 |42 |36 |23 |45

Subject to, X1+ X2 >1
2X1+3X2=>2
And X1,X2=>0

_ a)Solve the Following Using Dual Simplex Method
‘Maximize Z=-3X1-X2 '

33FB24ESAE4CFIDAET754A30C94CS51E7A




Q.P. Code :07835

bjGive the optimal job sequence involving three machines in the order ABC ane flnd total elaps'ed

time and the idle time for machine B and C.

Jobs 1 2 3 4 5 !
Machine A 7 12 11 9 8
Machine B 8 9 5 6 7
Machine C 1l 13 g 10 14

a)Solve the Following Problem using Graphical Method
Maximize Z=3X;+2X;
Subject to 2X:+X;<=40
X1+ X2 <=24
2X1 +3X; <=60
And )(1,X2>=0

b)The data collected in runninga machine, the cost of which is Rs60,000 are given below:

Year , e o il g s 4 5
Resale Value 42000 30000 20400 14400 9650

(Rs.) ' ‘

Cost of spare | 4000 4270 4880 5700 6800
(Rs.)

Cost of 14000 16000 18000 21000 25000
labour(Rs.)

Determine the optimum period of replacement of the machine?

a)Explain the following terms:
~i)Balanced Transportation problem and unbalanced Transportation problem with examples.
ii)Branch and: bound method of solving Travelmg Salesman Problem.

b)Given the following pay-off table. Decide the best decision using the criteria
iJMaximum _ii)Maximax__iii)Laplace iv)Hurwicz (a = 0.7) and v)Minimin

:| Course of s1 , S2 S3
| Action/States of Nature. | .
1 Al . S 30 . 60 20
A2 : 40 0 -20
‘A3 - 65 75 50
3
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Q.P. Code :07835 -

a)Use matrix oddment method to solve the following 3*3 game: - 08
0 1 ; .:;. 2 ; U3

2 0 o S

1 2 s o

b)For the project schedule given below draw the network: diagram. Find total, free and independent = =
floats. SR Pt
Actvi |12 113 |14 |25 |36 |37 [47 |58 |68 |79 [89 -[910 |

-ty e 51
Durat | 2 2 2 4 5 g~ 14 "1z & S 3 |4
_iOn o 2 . -
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Please check whether you have got the right question paper.
N.B: 1. Question No. 1is compulsory
2. Attempt any four from the remaining six questions.

a) What is project Management? Describe project management framework in detail. 10
b) What is outsourcing? Why and when organization should go for Outsourcing? 10
a) Explain different phases of Project life cycle with suitable diagram. 07
b) What are the processes for developing the Business case? 08

a) List all the important tools and techniques used for schedule development. Explain any 07

two in detail.
08
b) Explain importance of performance reporting. What are different ways of performance
reporting?
Q4 a) What are traditional tools and techniques for quality control? Explain any two in detail. 07
b) What are the processes involved in project scope management? 08
Qs a) What is change management? Why do people resist change? 07
b) Explain in detail Human resource management in project. 08
Qs a) What are the skills required to become good project manager? 07
b) What are the different leadership styles? Explain in detail. 08
Q.7 Write short notes on Any three:- 15

a). Types of Cost Estimates
b) Contract Statement of Work
¢} Approaches to Conflict

d) Administrative closure.
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